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2. sin(90°-A) = 3 A off, tan A O] F2? (T, 0° <A <90°)
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3.  sin90°+cos0° —tan0° = A , sin0° + tan 0° + cos 90° = B 2 & o,
AB 9] 3127
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oh5 17 2] AABC A

@D 6.82

AF7}

(Af2tulol #)

z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724

? 6.947 3 7.071 @ 7.193

3 7.314



® a=ccosB

@ c¢=asin(90° - B)

B ¢c=bsinB+acosB
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12. o J™-0A Y52 Eo] he? (B, V3 = L7E AXteitt )
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14. ©hS 2FH AABC = Y 0 o YAste BT & ¢ 0 9] HAlolt}.
(CBT = x & &} sinx = %, BC = 12cm € ©f, € O 9] 252
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A sin x 9] ZF& F5heiet
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@ A°] gto] Z71eHA sin A 9] gh2 AAgitt.
@ A°] gho] #A5H tan A o] g2 S71%H
@ cos A O] F&F2 0, HHZ 1010}
@ tan A °] HEFE-2 0, AL 10tk
® sin A 9] 7k} cos A 9] ZFo] Zopx]= Ao 9t



17. y = —2cos?x + 4cosx + 5 7} HHAZ-S 7HE o, x 9 3H29(H,
0°<x<90°)

@D 0° @ 30° B 45° @ 60° ® 90°



th3 AFZHe] o] 5 B 17 sin 49° + tan 30° — cos 48° 9] 3FS oozt
Zte | AfQl(sin) | FAFRI(cos) | EHHIE (tan)
30° 0.6293 0.7771 0.8098
40° 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0.7431 0.9004
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24. \/(cosA—sinA)2 + \/(sinA—|—cosA)2 = V3 <4 o, tanA 2] S
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